
名まえ

1 次の計算をして、答えを仮分数で求めましょう。

４
① ３ ＋ ＝５

１
② ＋ ７ ＝３

１

2 次の計算をして、答えを仮分数で求めましょう。

１
④ ＋ ４ ＝

③ ５ ＋ ＝６

① ＋ ＝ ④

８

−9
７ ４ ＝７ ４

６ ３

４＋ ＝５

− ＝ ⑤ ＋ ＝５ ５ ９
６ ８ ５

③ − ＝ ⑥
３

９
②

8
3

４
５

⑮ ⼒だめし

15
目指せ８０点！

（各10点）

（各10点）

13

13

10



４

４
５

１ ＋ ＝８ ８ ８

１＋ ＝６ ６ ６

１

③ − ＝ ⑥
３ ３

１
③ ５ ＋ ＝６

１
② ＋ ７ ＝

9
７

8
3

９
②

９

5 ４ 8＋ ＝５ ５

− ＝ ⑤ ＋ ＝５ ５ ５ ９
６ ７ ８ ５

７
① ＋ ＝ ４

１
④ ＋ ４ ＝８

④ − ＝７ ７ ４

2 次の計算をして、答えを仮分数で求めましょう。

６ ３

３

４

名まえ

1 次の計算をして、答えを仮分数で求めましょう。

４
① ３ ＋ ＝５ ＋ ＝５ ５ ５

＋ ＝３ ３ ３

⑮ ⼒だめし 答え

15
目指せ８０点！

（各10点）

（各10点）

13

13

1915

2221

3130

3332

15

13

10


